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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 
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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 
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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 

"#$%!&'()!*+!,#-+#'!.+!/+-0)!+%-1)*!2+$-23!4!

"+!&'()!*+%!#5)%!#'2#)+$-1)*%!,+%()$!#6+7!*#!
$+)8+!4!
!!

!

!

!

!
"#$%!&!'()*$+!,!-*./0!1+0102$3)3*%!4!-$)5*!6!

7!8#0*!20.)!9#$2!%$2!9+:%$2!9$!;0#%$#+!9<.2!%$!

;*$%!6!

"#$%%$!$2)!%<!9$+.*=+$!%$>0.!8#$!%$#+!

90..$!?*/5</!6!

"#*!$2)!?*/5</!6!

Petzi au pôle nord 
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Tu as 10 points au départ. On enlève1 point par erreur.  
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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 
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Construire un feu 
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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 

"#$%&#!'(!)*++*,#!-'!$.&/#!0'.!12(3/#!0'4.$!
5*.3!3/%+!5/2.-!

6'#$!721)*,(2(!&28*,#!*&#7!$#!)#/+2((*,#!
)/.(7.)*$!9!
!!

!
!
!

!
"#$%!&'()$*!%+'(,-'%!'./.,%!*$01*1!2!

34#*5#4,!%+64--$!$7/.,%!84#%$9$*71!2!

"#$%%$!/$:6(,5#$!%+'(,-'%!94#&*',/.,%!
'&40/$*!04#*!7$!0*4/1)$*!&#!;*4,&!2!

"#$!*$-'*5#$!%+64--$!5#'(&!,%!$(%<9$!7$7!
-4#;%$7!2!

Construire un feu 

!

"#+$77'=$!&$!;',*$!%+64--$!5#'(&!,%!($!*1#77,/!
0'7!>!*'%%#-$*!%$!;$#!2!

1 

9 

8 

7 

6 

2 

3 

24 

?4--$(/!%+'(,-'%!7$!&18'**'77$./.,%!&$!%'!
)%':$!7#*!7$7!0'//$7!2!5 

10 @$77,($!%$!*$/4#*!&#!:6,$(!'#!:'-0A!

4 "#,!0'77$!$(!0*$-,$*!>!/*'9$*7!%'!)%':$!/*40!
;,($!2!

B(!6'8,/'(/!
!

C+'(,-'%!

C+64--$!

:$!$*!$%7;#!#3!$*!12/-<!

:$!5*.3!12.(+!7.(0'*(3#!-#,/=+!#3!.$!5*.3!+.!5/2.-!0'4'(!
7/*7;*!7/=).3#!-*(+!$4*./!>.#(!*&*(3!-#!32'7;#/!$*!
(#.,#!

C$!;*4,&!
!

C'!($,)$!
!

C'!)%':$!;*'),%$!

D00$%$*!'#!7$:4#*7!
!

?*$#7$*!#(!/*4#!
!

?4#*,*!04#*!7$!*1:6'#;;$*!

E',*$!&$-,./4#*!
!

F+,(7/'%%$*!&'(7!#(!/*4#!
!

F$!:':6$*!74#7!#($!:4#9$*/#*$!
B(!%4#0!

!

B(!4#*7!
!

B(!:6,$(!

G%!7',)($A!
!

F$7!&4,)/7!7+$()4#*&,77$(/A!
!

G%!($!;',/!0%#7!;*4,&A!

?*/!+2(!5#'!+4=3#.(3!#3!0'4.$!&*!12'/./!



!
!
!
!
!
!!!!!!!

Tu as 10 points au départ. On enlève1 point par erreur.  
!! 
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Tu as 10 points au départ. On enlève1 point par erreur.  
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4 9#.+,,",()'0)'=),*'%#&'2"#660)'5#',"$5/)2*'4'

F,)'*)31G*)'
!

F,'$-(7+#66)3),*'

H+',)&8)'
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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 
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I/!(,0%$!

!

F$&!(,%$&!

!

F$&!%#/$''$&!

K$!&.%$,%!(!<,&)(*#H!

!

K$&!(/,+(#L!&$!&./'!$/D#,&H!

!
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Tu as 10 points au départ. On enlève1 point par erreur.  
!! 
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